EPL & %l - EPL Series EPL & %1 - EPL Series

¥ AR # #E - Technical data \ B R # #E - Technical data

B={type] i Bk [ratio] EPL 40 S [type] B L [ratio] EPL 40
PRAEBYE L[ stock-ratio ] R ZRadialkraft 400 N
1-4% [1-stage] EPL 40: 3/4/5/7 [standard baanng] fAxialkraft 300N
1-28 [1-stage] EPL 64-150: 3/4/5/7/10 "
\ s - 2% [2-stage] EPL 40: 9/12/16/20/25/35/49 RAHE {%Radialkraft
3 It
TR ratio ] 2% [2-stage] EPL 64-150: 12/16/20/25/35/40/50/70/100 [strong bearing] ;
3-%% [3-stage] EPL 40: 64/80/100/140/175/245/343" iiAxalkraft
3-4 [3-stage] EPL 64-150: 120/160/200/250/350/500/700/1000 10/100/1000
I
%) 5.0 MR Nm/arcmin 7/70/700 0.65
[torsional stiffness]
i=4/5/7 6.5 Nm andere [other] 0.85
E& [weight] kg 1-£% [stage] 0.4
9/12 10.0 2-£% [stage] 0.5
H4E T HEm4E 16/20/25/35 14.0 3-£% [stage] 0.6
[ nominal output torque ] Nm 49 12.0 39 0.06
EmEE (4/12/16) 0.04
InN=-§
64/80/100 14.0 kgemOJ (5/20/25/100) 0.04
[mass moment of inertia]
140/175/245 14.0 7/35/49/140/175/245/343|  0.04
343 12.0
3 10.0 B35 [lubrication] dbA <62
i=4/5/7 13.0 EFE (Vollast )[ efficiency at load ] 1-4F [1-stage] 94% 2-£§ [2-stage] 92% 3% [3-stage] 90%
FiYFEFay [ service life ) > 30000 Std. [h]
9/12. 125 38 [ lubrication ] AR EIBHS [lifetime lubrication)
16/20/25/35 17:5 B3P EELR [ protection rating ] IP 54
B8 T HE4%E
Nm 49 14.0 =178 [ operating temperature range ] (-20° C+90° C)
[ max. acceleration torgue ]
DA EN1=3000 1/min 3 B 7 S1-#F [Value refer to n1=3000 1/min and S1-mode]
64/80/100 7.5 2) Mi%500:K [allowed 500 times]
3 iR B R AR EE 2 A [Allowable operation temperature must be kept]
140/175/245 17.5 o BB FEAT R 1KEEE, %A #3000 1/mink &4 Measured in 1mtr.distance at n1=3000 1/min ]
343 14.0
g 20
i=4/5(7 26
#S/TYPE CODE
9/12. 20 .
Beispiel: EPL — 084 - 5 - R - D — P — [90/80/100/M5] - S01
16/20/25/35 26
Bk T A% Example
Kie 49 26 REHLRS i
[ emerengcy torque ] ’G box—styl HEKESK )
earbox-style special versin
64/80/100 26 L AR
ERALR T motorflange
140/175/245 26 size
343 26 AIREL —_— L P=H#AhEE S=EHA
ratio motorshaft with keyway motorshaft without keyway
—— 1/min 3500 R= o ST R D: #fERHIAER
[ allowed nominal speed | standard bearing motor-shaft-diameter
AR maxspeed | 1/min 6000 V= @R F: 4SBRG A
=g arcmin 14k [ stage] <20 siiong bealing free input shaft
[ backlash ] 245 [ stage] <24
34 [ stage] <30

www.eisele—gear.com

e 11 )




EPL & %] - EPL Series EPL & % - EPL Series
e - i T g
73 3 #l R =t - Dimensions \ I Bk % N\ 34 - Free input shaft )
i L9 N ( \
B3 17% 18 L9
LxD10 L3 L7 L6 uxpe® B3 L3 18 BS
Z1 71
" y o bxD10 QYI L1 LT L& /7
* | ® T / 1 \ /
?:I ‘L = E{ B e s e b Pf— % = g g Kk —t—+—— F-— / EI 5 5
T L15
D9 L& L10 LS L1k L10
= REAR TR "
*depending on motor
A ¥ e .
EPL - #3f [Standard] EPL - 4533 A% [Free input shaft]
m p 8 3 p > . 3 2 - 2] [ stages] 1 2 3 1 2 3 1 2 3 1 & .
Hilsiaged 6 1 15 45 15
L3 3 35 35 L7 20 25 36 45
L4 24 20,5 235 L8 23 30 45 50
5 0 70 20 L9 29 39 54 61
L10 5 8 8 10
L6 1 15 45
L1 2 1 3 4
L7 20 25 36 L12 12 20 22 =
L8 23 30 45 L13 16 23 28 40
o 29 29 54 L14 22 32 =7 51
o % = 3 L15 5 8 8 10
L16 110 125 141 132 154 176 1795 | 2125 | 2455 | 2415 282 Go2 5
D1 " 14 19 D6 k6 10 14 20 =
Dimax 11 16 24 D7 h7 25 40 55 80
D2 G7 %0 = 0 D8 40 64 84 118
D9 33 h 70 100
D3 46 75 100 —
D10 Max6 M5x12 M6x14 M8x18
D4 M4x10 M5x12 M6x15 D11k6 8 10 16 20
D6 k6 10 14 20 D12 25 40 55 80
D7 h7 25 40 o D13 34 52 70 100
B3 2 5 6 8
D8 40 64 84
B4 1102 16 225 28
D9 i) 52 70 BS 2 3 5 6
D10 M4x6 M5x12 M6x14 B6 8.8 112 18 206
B3 3 5 6 Z1 M3x9 M5x12 M6x16 M10x22
z2 M3x9 M3x9 M5x12 M6x16
B4 1,2 16 225
z1 M3x9 M5x12 M6x16 R B5 /size BS : o LDl
- DPL40 DPL64 DPL84
B1K[ length ] L1 L1 L1 Do i w170 &l s
| stages | 1 2 3 1 2 3 1 2 3 D13 63 75 | 85 | 100 115 —— - 1,
5 D14 55 55|66 66| 9 . 7
L8 23 30 45 :
9*20mm 99 114 1295 117 139 161 R 5 5 5 L] -
11*23mm 102 ilijz 1325 117 139 161 162 195 228 L17 50 70 | 80| 90 | 120 3 _i'_ j_'_‘“—‘_'“‘ _i[ E
14*30mm 129,56 1465 | 1465 162 195 228
_ 7
19*40mm 172 205 238 L
24*50mm 182 215 248 %
32*60mm
38780mm

www.eisele—gear.com




